Output :
Please check loss_D, loss_G, loss_GD
loss_G, loss_GD is not converge. Is it unstable training.

coea@coea: ~/Akhi_workplace/10 oct/12oct/VAE-GAN-Pytorch-master Lyl m 4) 97Aam i
File "/home/coea/. 10cal,fltb,l‘python2 7/site-packages/PIL/Image.py", line 1947, in save
fp = builtins.open(filename, "w+b")
IOError: [Errno 2] No such file or dLrectory 'data/results/0.jpg'
khi Al N-Pytorch er$ python main.py

epochs=301, 1 i i _e=0.00082, lr_g=0.0002, n_samples=36, n_z=200, num_worker , resume_training=False,
w_loss_g=0.01, w_los
'0.5134", ss_| '324.7726"', SS_ '18.4650"' , '9.1515")
'0.4720', = '340.3480', '13.0760°', '0.1167")
'9.4431', '341.7510°', '3,7297', s :
'0.4037', '392.7462', '3.1543', s 0.0723")
'0.4560", '378.7232', '5.0139', s 0.0396"')
'e.2921', '363.5614 "', '4.1846', s
'0.3507", '362.2620', '4.3811°', s 0.1435")
'0.2567", '384.1086"', .1678",
'0.3446", , ,
'0.2968", '387.1678",

.3620" s '379.1974"

'379.4216' '4.4344"
'4.0884 ',

.0561" s '0.0167")

.5786" s '393.9679',
.4250" s '388.0884"',
'383.7955',
'381.
'373.
'359.4
'361.
$3590.
'363.
'366
'355.6
£3590.
"SR,

.2075' '8.0187")
.7325' s '8.0168")
.5514' '0.0281")
.5101' '0.0207")
.3773' '8.1053")
.2884' '8.1184")
.3841' '8.1294")
.1344' '8.1330")
.9730' '8.1464")
.0636' '8.1377")
.3473' '8.1685")
.2460" < '8.1495")
.6126' : '8.1782")
.6331' '8.1384")
.8041' s_k '8.1350")
.4370' S, '0.1441")
.7724' '0.1685")
.8877' s_k '8.1378")
.4974' S, '8.1735")
.9961"' '8.1791")
.0433' s_k '8.2051")
.0727" '8.1979")
.1471" 3 '8.1518")
.8528' | '8.0923")
.5427" SS : '0.1049")

.4479" s5_G: s
.3425" 55_ 5 , 'loss_
.3195" 55_ 5 , 'loss_
.3198" ss_G: 5 , 'los
.3832" 55_ 5 , 'loss_
.3208" s 5 , 'loss_
.2616" s 5 , 'los
.3176" 55_ a , 'loss_
.5010" 5 a , 'loss_
.3962" 55_ a , 'los
.33e8" S a , 'loss_

’
,
,
,
,
,
,
,
,
:
.3781" s g '385.3322', SS_| ! .6441" 3 '0.0223")

coea@coea: B - - €) 917AM %

('epoch:', 39, s H .2558" '341.9453" '8.1376"')

('epoc 40, s .2605" '344.0069" '8.1560"')

('epoc 41, s .2192" '353.2483" 3 "loss_kld: '0.1687"')

(@4 H 42, s H .2744" '353.2722" H s 1d: '9.1479')

('epoc 43, s .2898" '360.0559" H 1d: '8.1676"')

('epoc 44, ss_| .2706" '351.4492" _GD: "loss _kld: '0.1640')

('epoch: 45, s g .2363" '364.8402" 3 "loss_kld:

('epoch:', 46, s .2599" '359.3078"

('epoc 47, ss .3877" '350.3698" _GD: 1101', 'loss _kld:

('epoch: 48, s g .1563" '354.6232" 3 '4.1561', 'loss_kld:'

('epoch: 49, s H .4320" '360.6068" H '4.5191"

('epoch: 50, ss_D: .2230" '352.3205" _GD: '3.7440", 'loss _kld:'

('epoch: Sl 5 5 .3683" '347.4534" 3 '4.7292', 'loss_kld:'

('epoch: 52, s H .2102" '340.6215" H '4.1523"

('epoch: 53, s H .2685" '345.3303" H '4.3672"

('epoch: 54, s 5 .3283" '361.6832" 3 '4.7059"

('epoch: S5, s 5 .3805" '357.5926" 3 '4.5179"

('epoch: 56, s 5 .2720" '343.7796" 3 '4.1522"

('epoch: 57, s 5 .2983" '363.5792" 3 '4.5649"

('epoch: 58, s 5 .2611° '366.8396" 3 '4.3013"

('epoch: s 5 .2853" '351.7948" 3 '4.1138"

('epoch: 6 s 5 .4400" '359.3975" 3 '4.3628" s g '9.1799"'

('epoch: 6 s 5 .4590" '354.8806" 3 '3.9285" s

('epoch: 6 s 5 S2193) '347.0661" 3 '3.8905" g '9.1923')

('epoch: 6 ! s_D: .4322" '347.9764" 3 '4.2668" ‘lD‘:‘: _kld:', 'e.1972"'

('epoch: s H .3586" '342.0866" 3 '3.7196', 'loss_kld:' '9.2167')

('epoch: s 5 .3862" '350.5527" 3 '4.0240" g '9.2154"')

('epoch: ! s_D: .2415" '354.9818" 3 '4.5384" ‘lD‘:‘: _kld:', '©.1948")

('epoch: s H .3612" '342.1844" 3 '4.6837', 'loss_kld:' '9.1975')

('epoch: s 5 .4350" '339.9323" 3 '3.7729" g '8.1910')

('epoch: ! s D: .2339" '338.9696" H '3.8198" ‘].0‘:‘: _kld:', '©.2245')

('epoch: s 5 .1866" '353.8707" H '4.4294', 'loss_kld:', '0.2227' )

('epoch: s 5 .2520" '362.2323" 3 '4.1992" s g '9.2158')

('epoch: s 5 .3232" '343.6323" 3 '3.9712°" '9.1981"')

('epoch: s '0.4548" '350.2817" '4.1488" '9.2207')

('epoch: s '0.2518" '352.6010" H '3.7239"' s H '9.2000')

('epoch: s '0.2753" '350.6534" '4.0094" s '9.2067')

('epoch: 6 s '0.3086 '346.9818" '4.3121" s '9.2357')

('epoch: s H '0.3345" '363.7195" H '4.2425" s H '0.2033')

('epocl s '0.4103" '345.9418" H '3.8385" '0.2314"')

('epocl '0.3565" '337.4632" H '4.1347" '0.2167')
0.1941" '343.4940" H '4.1118" s H '0.1705')
'0.2948" '339.1566" H '4.2129" s '0.2136')
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coea@coea: ~fAkhi_workplace/10 oct/12oct/VAE-GAN-Pytorch-master

('epoch:
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84, 'loss_D:' .1397',
85, .2235",
86, H .2198",
87, H .0829",
88, .4005',
89, .3482",
90, .2804 ",
91, 7 2141,
92, .3070",
93, .3346",
94, 7 .4208",
95, .2872",
96, .3268",

.1799"',

.2549",
.1813",
'0.3313"
'0.2407"
'0.2243"
'0.1870"
'0.2215"
'0.3950"
'0.2957"
'0.3131"
'0.1885"
'0.1600"
'0.2345"
'0.0794"
'0.0425"
'0.2920"
'0.1497"
'0.3557"'
'0.2279"
'0.2812"
'0.2798'
'0.5328'
'0.2818'
'0.0842'
'0.1215'
'0.4186

'0.2023'

’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
,
,

'340.0622',
'340.8265',
'347.1862',
'342.4987',
'342.7727',
'347.5073",
'339.1584',
'345.1808',
'346.0284',
'342.3311',
'343.6647',
'343.8027',
'340.3516',
'333.7291',
'350.1153',
'335.1623',
'339.4012",
'338.2145",
'335.4703"
'345.1571"
'351.6576"
'348.2862"
'336.8869"
'337.7999'
'335.0226"
'336.3211"
'340.7648"
'330.1382"

'343.2917"
'342.6067

'345.8789'
'332.6315'
'337.4555'
'338.8457'

~/Akhi_workplace/10 oct/12o0ct/VAE-GAN-Pytorch-master

'9.1341"
'0.4226"
'0.1574"
'0.1670'
'0.4000'
'0.1332'
'0.1363'
'0.1949'
'0.0988'
'0.3177'
'0.2630'
'0.2317'
'0.1722'
'0.3104'
'0.1276'
'0.1375'
'0.0999'
'0.4837'
'8.1192'
'e.2107'
'0.1516'
'e.1270'
'0.4292'
'0.0900'
'e.1910'
'0.1232'
'0.1367'
'0.0736'
'0.3394'
'0.1722'
'0.2663'
'0.3417'
'0.1233'
'0.1748'
'0.0762'
'0.4422'
'0.1474'
'0.1075'
'0.1027'
'0.2088'
'0.2376'
'0.1446'
'0.1757'

L7751,
.5125°,
6922,
7447,
9649,

.4281",
.5356",
.7536",
.1033",
.8458",
6.0515",
.e771",
.1614",
.8430",
6.8790",
.5676",

2370,
.1247",

.5067",
.4034",
.1277',
.0910",
.3678",
'326.7932',

'loss_GD:
'loss_GD:
s5_GD:
s5_GD:
s5_GD:
ss_GD:
ss_GD:
ss_GD:

S5_GD:
S5_GD:

S5_GD:

ss_GD:
'loss_GD:

'10;5:GD:'

"loss_GD:'
"loss_GD:'

.3721",
.3622',
6545,
.5906',
.7351",
.1758",
.0109',
.3038',
.8489',
.1378',
.4491",
.2556',
.8561",
.2878",
.6396',
'4.4095',
'4.5991",
'3.9121",
'4.4485"
'4.8861"
'4.5656"

'4.3778"
'4.3632"
'4.8034"
'4.6020"
'4.5800"
'4.4702'
-g93338
.9464"
.0943"'
.5223"'
.3790'
.9524"
.3383"'
.3148"'
.3583"'
.6378"'
-7999"'
.6693'
.8121'
.7764"
.0940'
.7253'
.5467"
8449'
2928'
.8252'
3699'
1003'
.2571'
9783"'
9660"
.7070"
7660"
9963'
.4153"'

'5.0240"

'loss_kld:
"loss_kld:

'loss_kld:
'loss_kld:

"loss_kld:

'loss_kld:
s

'loss_kld:
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ty B o) 917am
'8.2151')
'8.1923")
'8.2060")
'8.2349")
'8.2273")
'9.1886')
'8.2032")
'0.1887')
'8.2266')
'8.1965')
'8.2051")
'8.1931")
'8.1946')
'9.2035')
'9.2107')
'9.2017')
'9.2651')
'9.1835')
'9.2230')
'9.2007')
'9.1898')
'0.2200')
'0.1894')
'0.1944')
'9.2137')
'9.2731')
'0.2038')
'0.2164')
'9.2037')
'9.2237')
'0.2119')
'0.2209')
'0.2002')
'0.2131')
'0.2067')
'0.2034')
'0.1913')
'0.2039')
'0.2093')
'0.2024')
'0.2192')
'0.2087"')
'0.1893"')

1y B ) o17AM &%
'8.1908")
'8.2014")
'8.2064")
'9.2134")
'9.2213")
'9.2128")
'9.2329")
'9.2102")
'8.1964")
'9.2498")
'9.2224")
'9.2028")
'9.1874")
'9.1813")
'9.1803")
'9.1881")
'8.1754")
'8.1791")
'9.1684")
'9.1838")
'8.1835")
'9.1778")
'9.1909")
'8.1925")
'9.1979")
'9.1926")
'9.1668")
'9.1852")
'9.1638")
'9.1925")
'9.2016")
'9.1947")
'9.1806")
'9.1914")
'9.1878")
'9.2020")
'9.1889")
'9.1867")
'9.1611")
'9.2215")
'9.1774")
'9.1936")
'9.1746")




coea@coea: ~fAkhi_workplace/10 oct/12oct/VAE-GAN-Pytorch-master
('epoch:', 184, 'loss_D:', '0.0468', 'loss_G:

185,
186,
187,
188,
189,
190,
191,
192,
193,
194,
195,
196,
197,
198,
199,
200,
201,
202,
203,
204,
205,
206,
207,
208,
209,
210,
211,
212,
213,
214,
215,
216,
217,
218,
219,
220,
221,
222,
223,
224,
225,
226,

'0.1312', 'loss_G:'

'lnss:G:‘
'loss_G:'

'lnss:G:‘
'loss_G:'

'loss:G:‘
'loss_G:'

'0.1427"

'0.2770"

'0.1587"

'0.2475"

'0.2010"

'0.0794"

'0.2413"

'0.1161"

'0.0864"

'0.1018" ss_
'0.0574', 'loss_G:'
'0.0280', 'loss_G:'
'0.2378" ss_G:
'0.1185', 'loss_G:'
'0.1184', 'loss_G:'
'0.0910'

'0.0587'

'0.4905'

'0.2009'

'0.1165'

'0.0649'

'0.0516'

'0.16

'0.0861"'

'325.8462"
'335.0038"
'341.8189"

'329.2734"
'326.6366"
'333.2711"
'330.4449"

'329.3004"
'331.3111"
'331.3054'
'329.1798"
'328.6723"
'329.6199"
'326.3379"
'327.8278"
'326.3457"
'331.0950"
'337.1469"
'328.1343"

'325.8372'
'332.0702'
'332.9430'
'328.3549'
'323.9392'
'327.6327'
'327.2981'
'329.1626'

coea@coea: ~/Akhi_workplace/10 oct/12oct/VAE-GAN-Pytorch-master

('epoch:', 259,
, 260,
, 261,
, 262,
, 263,
, 264,
, 265,
, 266,
, 267,
, 268,
, 269,
o e
a els
3 2d25
o e,
, 274,
o HEs
3 2aak
o B
, 278,
o EEl,
, 280,
, 281,
, 282,
» 283,
, 284,
» 285,
. 286,
. 287,
., 288,
., 289,
, 290,
s 291,
s 292,
s 293,
s 294,
s 295,
s 296,
s 297,
s 298,
s 299,
, 300,

i~ fakhi_|

', '0.2947', 'loss_G:
'0.1677', 'loss_G:'
'0.0476', 'loss_G:'
'9.8382', 'loss G:'
'0.1438"
'0.0414"
'0.3900"
'0.0572"
'0.1841"
'0.0513"
'0.0319"

'10;576:‘
'loss_G:'

’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
’
,
,
,
,
,
,
,
,
i
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i
i
i

s
ce/10 octf12oct/VAE-G

'328.1932"
'328.9309"'
'327.3654'
'338.2514"'
'332.3054'
'327.8733"
'329.1648"
'333.0861"
'329.5862"
'322.9902"
'327.2486"
'332.3799"
'329.7781"
'327.5834"
'328.7489"
'331.9514"
'332.6474"
'326.1878'
'335.0823'
'337.4936'
'338.3474'
'323.8488'
'328.9307'
'332.2992'
'326.2519'
'329.2089'
'327.0502'
'328.7331'
'329.5396"
'326.5525"
'327.3878"
'336.3746"
'334.0555"
'327.9480"
'324.7088"'
'320.8804"

'323.7616"
'325.7892"
'335.0434"
N-Pytorch-ma

'loss_GD:"'

'10;5:GD'

s

stersil_

'6.0188", 'loss_kld:'
'7.8850", 'loss_kld:'
'5.9952"

'4.5618" N
'4.7264" H
'4.7582" “kld:
'4.9813" kld:
'5.1962', 'loss _kld:’
'5.6469", 'loss_kld:'
'5.5300" kld:
'loss_kld:"'
'loss_kld:"'
'loss_kld:"'
'loss_kld:"'
'loss_kld:"'
'loss_kld:"'
'7.3943', 'loss kld:’
'5.8171', 'loss_kld:'
'5.3797"

'4.9399"

'5.4754"

'4.9492"

'loss_kld:
"loss_kld:

'loss_kld:
'loss_kld:

'6.1269', 'loss_kld:

'5.7160', 'loss_kld:'
'5.8177" kld:
! 'loss_kld:"'

'loss_kld:"'

"loss_kld:
"loss_kld:

'loss_kld:
"loss_kld:

'loss_kld:
'loss_kld:
'loss_kld:
'loss_kld:

'loss_kld:
"loss_kld:

'loss_|
'loss_k1ld:

'0.1762"')
'9.2006')
'9.1970')
'9.1700')
'0.1624')
'0.1615')
'9.1589')
'9.1737')
'0.1696')
'0.1810')
'0.2006')
'9.2007')
'9.2131')
'9.2058')
'9.1856')
'9.1760')
'9.2039')
'9.1593')
'9.1468')
'9.1819')
'9.1867')
'9.1761')
'0.1513"')
'9.1551')
'0.1731')
'0.1723')
'9.1973')
'0.1874')
1) a3l )
'9.1692')
'0.1602')
'0.2093')
'0.1704')
'0.1572')
'0.1529')
'0.1793')
'0.1757')
'0.1820')
'0.1786')
'0.1626')
'0.1605')
'0.1591"')
'0.1500')

'9.1662')
'9.1456')
'9.1887')
'9.1843')
'0.1631')
'0.1865')
'0.1798')
'0.1750')
'0.1819')
'9.1576')
'9.1558')
'0.1804')
'0.1636')
'0.1788')
'0.2095')
'0.1789')
'0.2062')
'9.1581')
'0.1594')
'0.1781')
'0.2081')
'0.1490')
'0.1380')
'0.1473')
'0.1541"')
'0.1577"')
'0.1397"')
'0.1719"')
'0.1621')
'0.1598')
'0.1637')
'0.1866')
'0.1800')
'0.1626')
'0.1657')
'0.1570')
'0.1620')
'0.1701')
'0.1617')
'0.1495')
'0.1547')
'0.1633')
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This is the generated image :

loss_G , loss_GD is not converged. So what is the problem.

Is GAN has not achieved Nash equilibrium

Please give the paper that you have implemed. Any source
paper or material for this code.




